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"Nailed down" PUCK w/ “Naliag dowrt

Negative charges (blue) Negative Positive charges (pink)
\ Charge! /
v
A 6 ) @
B B ®
C @ @ ©
D @ @

E A

All of the pucks e feel a force to
the right.

A.True B. False

uestion from Perkins University of Colorado
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“Nailed down" PUCK w/ ‘Nailed down™
Negative charges (blue) | | Negative Pesilive charges (pink)
) Charge!
C ® e 8
D @ ®

The puck ® 1n C feels a greater force
to the right than the puck in D.
A.True B. False

m Perkins University of Colorado



For which of these choices 1s puck most
likely not to move?
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Original question from Perkins University of Colorado



If we put bunch of electrons in a box.
They will

a. clump together.
b. spread out uniformly across box.
c. make a layer on walls.

d. do something else.

Original question from Perkins University of Colorado



Which arrow best represents the
direction of acceleration of the puck eis
it passes by the wall ?

Electric Hockey, Lewel 1
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Original question from Perkins University of Colorado



PRS08

Hollow Conductors

A point charge +Q 1s
placed at the center of
the conductors. The
induced charges are:

L. Qdl) =QU2) = -Q;
Q(O1) =Q(O2)=+Q

2. Q1) =QU2) =+Q;
Q(O1) = Q(O2)=-Q

3. Q1) =-Q; Q(OI)=+Q
Q(12) = Q(02)=0

4. Q1) =-Q; Q(O2)=+Q
Q(O1)=Q(I2)=0



PRS08

Hollow Conductors

A point charge +Q 1s
placed at the center of
the conductors. The
potential at O1 1s:

1. Higher than at I1
2. Lower than at I1

3. The same as at 11



PRS08

Hollow Conductors

A point charge +Q 1s
placed at the center of
the conductors. The
potential at O2 1s:

1. Higher than at I1
2. Lower than at I1

3. The same as at I1



